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2. If 27" x3° =3*x9°_ then m=

(a) 3 (c) 8
b) 6 d 15




3.

: o 9 :
If the product of two numbers is 5 and one of the numbers is = then the sum of the numbers is:

| 5
(a) 4; (c) 4 s

2 |
(b) 4; (d) 5'g

L R E L






5. Consider the equation x° + 2x + k = 5, where £ is a constant. If 3 is a solution of the equation, then the
second solution is:

(a) -5 (c) -1
(b) -2 (d -3

@ Smce X =3 '4an”m,wacam
AML}Z‘:B

(3)*+2(3)x K=5



6. The length of the diagonal of a square is V10 . Find the area of the square.

() HO (©) 10
(b) 20 d 5




7. Cube A has surface area 1350 cm®, and cube B has surface area 600 cm”. Then the edge of A exceeds
the edge of B by:

(a) 25 (c) 5
(b) 15 (d) None of the previous




(c)

(d)




9. Which of the following inequalities i1s equivalentto — 4 < x <8

(a) |.\' l|<7 (¢) |x+3 i
b) |x+2|<6 d |Jx-2<6

—6+42.<t L6172
S e S S
ol



10. The solution set of —l— +-l— -12=0 1s:
> i -

@ 2,43 (c) ﬁ[“i, 11
(b) {25 } (d) None of the previous







|
> Bt | 5

12 The solution set of F =

3

@  (—=,-6)U(6,%) © (3’ )
o,

(b) (-6, 6) (d) None of the previous




1 ifx2>3
3. If £(x)= {x 3 lifi<3,thenﬁndf-(8)+¥(—l).

(a) 9 (¢) d
(b) 11 d -5

® ﬁ(z)ss—\:@
P(-1 = 3-(-N'=3-15D

Le3) « PV = F+2 =1 S



1
x <-—1
14 If f(x)=4 YI—B , then find the domain of /.
e 8 ) ¥>1
Y
(a  N\{0,3} ) (=o,-1)U(1, )

(b) ) (d) None of the previous




15. The price of copper increased by 25% and then fell by 20%. The price after these changes becomes.

(a) 5% less than the original price.
(b) 5% more than the original price.
(¢) Same as original price

(d) None of the previous

75) ZI%WWQMOO

o0 + 2574 100 = le0+ 75100

— o +125




16. If 6 percent of x 1s 7.5, then 36 percent of x equals:

@ 36 (€) 45
(b) 42 (d) 438




17.

The weight of Sami was 100 kg. He started a diet that guarantees a 10% weight loss per month. What
was Sami’s weight after following this diet for two months?

(a) 80kg (c) 8lkg
(b) 79 kg (d) None of the previous




18. In an Arabic school, English and French are offered as foreign languages, and each student must study at
least one foreign language. If 41 students study both English and French, 681 students study English and
357 students study French, find the number of students in the school.

(a) 1079 (c) 997
(b) 1038 (d) 993

S MM CForE) —n(F) en(E)-nroE)

NFor£) = 357 + 681 = Al
=103 ¥ - 41

352 C
- 997
= 997 —>

—-—/




19.

A water tank is half full of water. When 10 gallons are added, the tank is %full. What is the capacity of

the tank in gallons?
2 1
a 26— C "
(a) 3 () -
3 2
b 24— d 24—
(b) = (d) -



20. The solution set of [x + 1| = x +1 is:

(a) {0} (c) R
b) {1 d [ L)

~(241) 7 X+l L o

,1+‘1=17LH ) 7“"'%

@f DL

(K+\) , -1
fo \axl| =A%) when xz—1

E—l,oa)—ao‘



